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Opgave c026 – løsning

class CxPalindrom

{


private:



CString Text;


public:



CxPalindrom (CString& T);



BOOL
IsPalindrom (void);

}

CxPalindrom::CxPalindrom (const CString& T)

{


Text = T;

}

BOOL
CxPalindrom::IsPalindrom (void)

{


CString
TestText = Text;


TestText.MakeLower( );


int SlutIx = TestText.GetLength( ) - 1;


int StartIx = 0;


while (SlutIx > StartIx)


{



if ((TestText[SlutIx] < 'a') !! (TestText[SlutIx] > 'z'))




--SlutIx;



else if ((TestText[StartIx] < 'a') !! (TestText[StartIx] > 'z'))




++StartIx;



else if (TestText[StartIx] != TestText[SlutIx])




return (FALSE);



else



{




++StartIx;




--SlutIx;



}


}


return (TRUE);

}
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